Exercice0?2.

ZC-u- ZC-U- Cu, u*-x,u
a) u* = = R Ll=% xu =x1u, +X,u, >u, =—+2&
) ZCI C Z C Z i a“a bbb b X
avec u, =(u, —u*)+u*=3+12=15cm/s et x,=1-%x,=1-1/6=5/6

- 5
uy = m =114cm/s

5/6

b) uy, —u*=11,4-12 =-0,6 cm/s

ch_ul _ ZMiCiUi _ ZMiXiC.ui _ ZMiXiui _ Maxaua +bebub
Zci ZMiCi ZMiXiC ZMiXi MaXa + MbXb

c)u=

Exercice03.

a) M=) M,;y; =32x0,4+44x0,6 =39,2 g/mol

— M,N, M,y,N P 1519.10°
b) e CA=“::}= ‘i} A _ A\S;A =ﬁMAyA=m32x0,4=795g/m3
5 X

C — = _ P 1.519.10°
e C=p=C,+Cp=— My, =—2—"~"" "~
P=rATEB T RT iYi 8314x294
Ny _ysN _ygP _0.6x1519.10°

c) Cg=
3 AY RT 8314x294

c-C ~795
autre méthode Cpg = Cs — C-Ca _ 2436—-79
Mg Mg

M.v.u.: M:v.u:
d) e uA—u=uA—L Y1 =uA—L Y%
zMiYi M
32%0,4x0,8+44%0,6 % (—0,02)
39,2

e up—u*=ug- Y yu; =(-0,02)—[0,4x0.8+0,6 x(~0,02)] = —0,04 m/s
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= 44x37,3><((—0,02)— ): -53,5 g/m’s



